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2.8 Guided Practice
2. If a 1s positive, it opens up; if

a 1s negative, it opens down.
If a < 1, the graph is wider
than y = |x|. If a = 1, the
graph has the same shape as
that of y = |x|. If a > 1 the
graph is narrower.

4. y

6. y

(0, —10); opens up; same
width

N <

(—6, —10); opens up;
narrower

10. y = |x — 4| + 1

2.8 Practice and Applications

12. B 14. A
16. A

(7, 0); opens up; narrower
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y = 2|x|

y=%k+ﬂ
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46. y = ——|x — 6] + 8; yes
7 y

48. y = —37.9|x| + 853

50. D

52.

y
\\ //
\[[ ¥ =-5x|=5IxI
;1_1 1 X
|
b4, y ]
y=|x|+3
y=|x-3|
1
;1_1 1 X
|
2.8 Mixed Review
_3 _ 8
56. y = 5x 5
2 2
58. y = 1Sx 3
60. y
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12.y=%|x+1|+2

200,if 0 < x < 1000
14, () =1 -
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